














! STieae. AW PAC.. (20 MARKS)

4)
a a
(i} Show that .[f(x)dx = If(—x)dx
-a -a
4
(ii) Hence or otherwise evaluate J.(e)r — )cosxdx
—4
a : 2.2
(iii) By considering J‘\;‘a‘ -x“dx find tl area enclosed by the ellipse ;2-4- |
g a
b)
(i) Sketchtl  hyperbola H : | showing all the asymptotes, directrices,
7 10

vertices and foci.

(i) Show the equation of the tangent at any point P (3sec 8,4 tan& ) on the
hyperbol: "is4xsecf-3ytand 2,

The tai ntat. meets the asymptotes at  in the first quadrant and R in the fourth quadrant.
(i) If O is the centre if H, prove that P is the mid-point of OR.

(iv)  Find the area of A GQR.

(v} If S'is the focus of H, find SR to the nearest minute.
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